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SZANER H 4 H i = 7o (1)
R5.7.6| W& | EFZEE 5,000
R5.7.6 = NIRFERE R A E T 2= 10,000
R5.7.7|  Wihé i%ggi@iﬁiiéﬁﬁ%iég% 80,000
R5.7.8 = DHREZ EMER 20,000

R5.7.10| R4 |35 3 5,000
R5.7.12| MR [EEFEE 5,000
R5.7.12| A#EEe |[FHAES 30,000
R5.7.14|  MRIA | EEFIEE 5,000
R5.7.14| B g*&iﬁ?g%@; éi;;b%.;}% b0z 20,000
R5.7.16| A& |[ex RFZEM 5,000
R5.7.17|  HRE& | HHEFEE 5,000
R5.7.22 b FH J2b G [ 4% 30,000
R5.7.23| A& |EFE R 5,000
R5.7.23| A& |ex RFHEM 5,000
R5.7.27| WA | AMIEZEE 5,000
R5.7.28|  HYRIA:  |MEESZEE 5,000
R5.7.28| MREE  |[EBEFIEE 5,000




